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7P MDL | ¥ i R

ERO\ R\ AR | RE | R AR RE PR AR AE YR | AR *;fi
kiR — °C | 239 | 236 | 234 | 239 | 236 | 233 | 241 | 238 | 234 | 238 | 234 | 232 | —

pH & — — | 81|81 |81 | 82|82 |82 82|82 |82 82|82/ 82 [75-85

iR — |mgL| 66 | 65 | 64 | 67 | 67 | 65 | 67 | 66 | 64 | 6.7 | 65 | 63 | >50

425 F| 10 |mglL| <10 | <1.0| <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0
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AE® | 006 | mgL | 012 | 013 | 012 | 012 [ N.D. | ND. | 012 | 017 | 015 | 011 | 0.15 | 010 | —
T AE® | 0007 | mgL | N.D. | N.D. | N.D. | N.D. [ 0.02 | 002 | N.D. | N.D. | N.D. | ND. | ND. | ND. | —
A ;?“ﬁ <0 [SPUT) 25 | 35 | 10 | 160 | 45 | 20 | 35 | 25 | 25 | 10 | 25 | 35 | —
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KA 05 |[mg/L| 11 0.9 1.0 1.2 11 1.0 1.0 1.0 0.8 1.0 11 1.0 —
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- &1 0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | 0.1
REE: +» 10.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | 0.1
ZJ‘Z = 424> (0.00005| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1
& % % |0.00003| mg/L | N.D. | N.D. [ N.D. | N.D. | N.D. | ND. | N.D. | ND. [ N.D. | N.D. | ND. [ ND. | 0.1
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